specific to pTet-circuit

b
pTet —> FIhDC + pTet (1)
specific to pFlhDC-circuit
by
pFIhDC ——> FIhDC + pFIhDC (2)
. ks . w k3
nsFIhDC + pFliA —— (FIhDC),ppFliA K="= 0
k_3 3
Ky ke
nyFIhDC + pFIhB ——= (FIhDC),papFIhB Ki="7" @&
k_4 4
bs
(FIhDC), papFliA ——> FIliA + (FIhDC),papFliA (5)
be
(FIhDC),papFIhB —— FP3 + (FIhDC),papFIlhDC (6)
specific to pTet-circuit
be
(FIhDC), papFIhB —> TetR + (FIhDC),papFlhB (7
specific to pFIhDC/OmpR*-circuit
bes
(FIhDC),papFIhB ——> OmpR* + (FIhDC),papFIhB (8)



specific to pFIhDC/EnvZ-circuit

be
(FIhDC),papFIhB —— EnvZ + (FIhDC),papFIhB (9)
. : kio : : mo _ K-10
nFliA + pFliA <—— (FliA), rapFliA Ky =— (10)
k_10 kio
. kiy . n k_11
ny FliA + pFlhB —— (FliA), »apFlhB K\ = T (11)
k_11 11
specific to pFIhDC-circuit
. kiz . n k_12
npFliA + pFIhDC —— (FliA), papFIhDC K}y = T (12)
k_1» 12
specific to pFlhDC-circuit
b13
(FliA), papFIhDC ———> FIhDC + (FliA), »apFIhDC
(13)
bl4
(FliA), papFliA ——> FliA + (FliA), papFliA (14)
bis
(FliA), »apFIhB ———> FP3 + (FliA), »apFIhB (15)
specific to pTet-circuit
bis
(FliA), »apFIhB ——> TetR + (FliA), »apFIhB (16)



specific to pFlhDC-circuit

bis
(FliA), papFIhB ———> OmpR® + (FliA), papFIhB (17)
specific to pFlhDC/EnvZ-circuit
b1s
(FliA), papFIhB ——> EnvZ + (FliA), papFIhB (18)
specific to pTet-circuit
k k_19
nalc + TetR (aTc),,,paTetR Kig=—— (19)
~19 kio
specific to pTet-circuit
k k_20
nyoTetR + pTet (TetR),,papTet Ky = — (20)
~20 k20
specific to pFIhDC/EnvZ-circuit
k21 . k_21
ny EnvZ + OmpR OmpR’ Ky = — 21)
k—Zl k21
specific to pFlhDC-circuit
. k22 ) nn _ km
n»OmpR* + pFIhDC (OmpR*),, »papFIhDC Ky = —
k-2 k22
(22)
Y23
FIhDC ——> 0 (23)
V24
FliA ——> 0 (24)




Y25

FP3 — (25)
specific to pTet-circuit
Y26
TetR — 0 (26)
specific to pTet-circuit
( T T Y27 ff Y2
aTc),,aTetR ——> 0 KW =K =Kqg+ k—7 (27)
19
specific to pFIhDC/EnvZ-circuit
£ Y28
nw/l ——— (28)
specific to pFIhDC-circuit
mp — 0 K" =Ky + o (29)
21



[FIhDC]™®

. Fl-Atotal 30
K% + [FIhDC]™ LpFEATEY (30)

3)= [(FIhDC), papFliAl,, =

[FIhDC]™
K" + [FIhDC]™

4) =  [(FIhDC),papFlhB]., = [pFIhB”“]  (31)

[FLA]™
KI + [FLA]™

(10)=  [(FliA), papFliAl,, = - [pFlLiA™™ (32)

[FLIA]™

(1) = (A ppFIBly =t =
11

- [pFIhB"") (33)

specific to pFlhDC-circuit
[FLiIA]™>
K'Y + [FliA]™

(12)=  [(FliA), papFIhDCl,, = - [pFIhDC"]  (34)

specific to pTet-circuit

( 1 9) free K;’;Tc total
= TetR = - [TetR 35
27) etk = g farepr TR (33)
specific to pTet-circuit
ano
(20) = [pTetl,, = = - [pTet™ (36)

K32 + [TetRIree]m

specific to pFlhDC/EnvZ-circuit

([EnvZ’“’“’] - nlempR:q)”21 ([OmpR"’Z“I] - 0mpRZq) - K;{lmepR* =0

(2]) eq —
(29) - : * total
0 <ny OmpR;,, : 0 < OmpR;, < [OmpR"'"]
(37)
specific to pFIhDC-circuit
722
(22) = [pFlhDC]eq = 22 . [pFlhDClotal] (38)

K22 + [OmpR* ]



(34)
(38)

specific to pTet-circuit

(1) d[FIhDC]

) = ar bilpTetley — y23[FIRDC] (39a)
35)  d[FIhDC] Ko
536; == =B o = — yulFIRDC] (39)
20 19 X
K20 + (K:’gTr+[aTC]:_’aTc [TetR])

specific to pFlhDC-circuit

@ aFmpCy

(13) = —l‘ = bz[pFlhDCfree]eq+b13[(FliA)nlszFlhDC]eq—)/B[FlhDC]
(23)
(40a)
d[FIhDC] K;éz ng (FLiA™
) ' ' —yx[FIhDC
dt K;%Z + [OmpR*]™ B> Ktlgz + [FLIA]" + B3 K;’léz + [FLiA]™ Yasl ]

(40)

) FliA]

(14) = = bs[(FIRDC), pa pFliAleg+b1s[(FliA), pa pFliAleg=y2  FliA]
(24)

(41a)
(30) d[FliA] _ [FIhDC]™ [FLiA]™o0 '
(32) = e S'K;B n [FlhDC]”3+ 14-K?(1)0 T TFIAT™ —yulFLIA] (41)
© d[FP3]

(15) = —— = = bo[(FIADC),p4 pFhBley+b15|(FliA),, » pFhBleg Y25 [ FP3]
(25)

(42a)

€1y d[FP3] [FIhDC]™ [FLA]™
;P : —y5[FP3] (42
@3 = “ar PoxpEarmpeys P gy riayn )

specific to pTet-circuit

(7
(16) = d[TetR]

(26)

= b6[(FlhDC)ﬂ4~pFlhB]eq+b15 [(FZZA)n”" pFlhB]eq—)/%[TetR]

(43a)



(31) __ d[TetR] [FIhDC]™ [FLA]™
= = Pe6 —7n P15 75 ;
(33) dt K} + [FIhDC]™ K" + [FLA]™

—Y26[TetR] (43)

eqn.(35) gives then [TetR'™] in function of [TetR"“] :=[TetR]

specific to pFlhDC/EnvZ-circuit

©) d[EnvZ]

(18) = = bs[(FIhDC), papFlhB].,+bs[(FliA), »apFlhB].,~yxs[EnvZ]
(28)
(44a)
(31) _ dlEmwZ] _ ,  [FIhDC]™ N L (. J
(33) :—dt = Pe K™ + [FIhDC]" +Bis K7 1 [FLAT™ vas Env.
(44b)
[Envzt()ml] = [EnvZ,] + [EnvZ] (44)

Solve then eqn.37) to get [OmpR*] in function of [OmpR”®] :=[OmpR,)

specific to pFIhDC/OmpR*-circuit

®)  grompr

(17) = = be[(FIRDC), 4 pFIBl,y+bis[(FIiA), » pFIRBl.,—~y[OmpR’]
(29)
(45a)
31) _ dlOmpR'] [FIRDC]" [FLA]™ )
33 = @ Pexm e mmper Pk + Ay YLOMPR
(45)



